= 2 B B & X £ #«
e | 15-6-1 KB | &
BB |BHRGL) I E

AbhL—FriAyvad7 UERERTE

HiEL BFS-40SY,
<$EMRFEH - XFH>
RbA M HNEEE W = 105 Kg
hG BEDES hG= 40.0 cm
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RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxWx9.8| 1029 N 154.4 N 205.8 N
REtHSEME RN FV=FH/2 51.5 N 772 N 102.9 N
7oh—iRILEBliR B RILR R/ 558 AI(RbA)
b = FH xhG + (W x9.8+ FV)x(L-LG) 100.8 N 138.3 N 175.8 N
L x nt RILE R/ KID{I(RbB)
* L:LAX[ELB. LG:LGAZE=[XLGB. nt=n/2 05.8 N 130.8 N 165.8 N
Toh—mRILNE ARG HE
S RIL BT E RS 46.8 N/cm? 70.2 N/cm? 93.5 N/cm?
n-A A=055 cm?
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s AL > o 37.7 & 27.5 {& 21.6 f&
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400)
215.9 & 144.0 & 108.0 1&
EEA R AW SE 101 kN/om®
AT L ARV (A2-50)
ke 195.0 {& 130.0 f& 97.5 {&
SEEISE R AW S EE:9.12 kN/cm?
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